Tabella 1

| Popolazione | Contr ibuto |
T a1 dmewe

I 2.500 < ab. i 5.000 | 14.250.00 € ;T |
I 5.000 < ab. L0000 | wasocoe T |
I 10.000 < ab. 25000 | 20.250.00 € A |
I 25.000 < ab. lé 50.000 | 24.750.00 € A |
I 50.000 < ab. " To0.000 | sso00e | T |
ooooan 1 e oooe |
[FE=mmmEEEEEEEEEEEE | —==========

Tabella 2

|m========================ssss=ss|sssssssssssssssss

| Popolazione | Contr ibuto |
A czso 1 Soooooe

I 2.500 < ab. ) 5000 | 3.000,00 € ;T |
I 5.000 < ab. i 10.000 | 3.000.00 £ ;T |
I 10.000 < ab. lé 25.000 | 3.000,00 € . |
I 25.000 < ab. lé 50.000 | 5.000,00 € . |
I 50.000 < ab. 00000 | 5.000,00 € A |
“woooo<an 1 700 oone |
[Femmmmmsssssssmsmass=s | ===========

Tabella 3

1090

| Popolazione | Contr ibuto |
sz | Grewme

I 2.500 < ab. i 5.000 | 16.150.00 £ ;T |
I 5.000 < ab. L0000 | essoo0e | T |
I 10.000 < ab. lé 25.000 | 22.950,00 € C T |
I 25.000 < ab. lé 50.000 | 28.050.00 € A |
I 50.000 < ab. lé 100.000 | 31.450.00 € T |
oooocan 1 ass oooe |




